ATLANTIS EXIM PVT LTD

26/5 INDIRA VIKAS COLONY,DELHI-9
Tel:27604447 Fax:27601743 E-mail :atlantisindia@gmail.com
Web:www.atlantisexim.in

Price list No.11 W.E.F. 01-04-2014

PROPELLER SHAFT COMPONENTS SECTION

CROSS HOLDERS SECTION

H-200 CROSS HOLDER TATA 1210/SE

(Cross 38 X 101mm, 6 Hole, Plate120 mm, BOLT 17 No.) 10 700.00 EACH
H-201 CROSS HOLDER 1312 (8 Hole)

(Cross 46 X 120mm Bolt 17 No., Plate 130mm) 20  1170.00 EACH
H-202 CROSS HOLDER 1312 N/M (6 Hole)

(Cross 46 X 120 mm, Bolt No. 17 plate 120mm) 20  1210.00 EACH
H-203 CROSS HOLDER 2516 TC

(4 Hole, Cross Tusker 34.92X126 mm) 20 1380.00 SET
H-204 CROSS HOLDER 2515 EX

(Cross 41.28 X126 mm, Bolt 17 No., 8 Hole, Plate 130mm) 20 1280.00 EACH
H-205 CROSS HOLDER 2518
(Cross 41.28 X 126mm, 8 hole, Bolt No.19,Plate 150mm) 20 1660.00 EACH

H-206 CROSS HOLDER 2518 RSB SMALL

(Cross 42X119, 8Hole, Bolt No.17, Plate130 mm) 20 1360.00 EACH
H-207 CROSS HOLDER 1613 TC /4018 RSB BIG

(Cross 42X129mm, 8Hole, Bolt No. 24, Plate165mm) 20 1640.00 EACH
H-208 Cross Holder 2516 RSB- EXTRA LONG (Serrated)

(42X129mm, 4 Hole, Bolt No. 19, Plate 150mm, HT-5") 10 2300.00 EACH
H-209 CROSS HOLDER 407

(Cross 30X82mm,6 Hole, Plate 100 mm, Bolt No. 13) 5 600.00 EACH
H-210 CROSS HOLDER 407 TURBO

(Cross 30.17X106mm, 6 holes, Plate 120mm, Bolt No. 17) 10 760.00 EACH
H-211 CROSS HOLDER 407 PIKUP BSIII MODEL

(Cross 34.92 X106mm, 6 Holes, Plate 120mm, Bolt No.17) 10 866.00 EACH
H-212 CROSS HOLDER 407 MSL TYPE (407 TURBO N/M)

(Cross 30.17 X 92mm, 6 Hole, Plate 100 mm, Bolt No.13) 5  630.00 EACH
H-213 CROSS HOLDER 1109
(Cross 34.92 x126mm, 8 Hole, Plate 130 mm, Bolt No. 17) 20 1330.00 EACH

H-214 CROSS HOLDERS 4018 PATTI TYPE

(Cross 49.20x154.80mm, 8 Hole, Bolt no. 24, Plate 165mm) 20 2230.00 EACH
H-215 CROSS HOLDER 4018 RSB TYPE (SERRATED)

(Cross 48X135mm, 4 Hole, Bolt No. 19, Plate 150mm) 10 2260.00 EACH
H-216 CROSS HOLDER 4018 PATTI TYPE (SERRATED)

(Cross 49.20X154.80mm, 8 Hole, Bolt 24No. Plate 150mm) 20 2200.00 EACH
H-217 CROSS HOLDER 4018 PATTI TYPE (SERRATED)

(Cross 49.20X154.80mm, 8 Hole, Bolt 24No. Plate 180mm) 20 2500.00 EACH



H-218

H-219

H-220

H-221

H-222

H-223

H-224

H-225

H-226

H-227

H-228

H-229

H-230

H-231

H-232

H-233

H-234

H-235

H-236

H-237

H-238

H-239

H-240

H-241

H-242

H-243

H-244

H-245

CROSS HOLDER LEYLAND 370

(Cross 39.68 x 117mm, 4 Hole, Plate 146mm, Bolt No. 21)
CROSS HOLDER LEY. TUSKER

(Cross 34.92 X126 mm,4 Hole, BOLT NO. 21, Square base)
CROSS HOLDER LEYLAND 2516 SPICER / 3516
(Cross 41.28 x126mm , 8 Hole,Bolt No. 15, Plate 176mm)
CROSS HOLDER MAGIC

(Cross 22 x 55mm, 4 Hole, Bolt No. 13, Square Base)
CROSS HOLDER ACE

(Cross 23.82 x 60mm, 4 Hole, Bolt No. 13, Square Base)
CROSS HOLDER CANTER N/M

(Cross 30.17 x 106mm, 4 hole, Bolt No. 13, Square Base) 3
CROSS HOLDER JEEP DIESEL (ROUND TYPE) 5
CROSS HOLDER JEEP DIESEL (SQUARE TYPE) 5
CROSS HOLDER MAHINDRA MAXIMO 5
CROSS HOLDER TATA 2518 N/M RSB (SERRATED)

(42X119,4 HOLE,BOLT NO.19, PLATE 150MM) 20
CROSS HOLDER 2518 (SERRATED)

(41.28 ,4 HOLE, BOLT NO. 19, PLATE 150MM) 20
CROSS HOLDER 2518 EXTRA LONG (SERRATED)
(41.28 ,4 HOLE , BOLT NO. 19, PLATE 150MM) 20
CROSS HOLDER TATA 2515 TC N/M ,TUSKER LONG
(41.28 X126MM , 4 HOLE , BOLT NO. 21) 20

CROSS HOLDER RSB 490 SERIES (SERRATED)

(48 X135MM, 4 HOLE , BOLT NO. 19 PLATE 175MM) 20
CROSS HOLDER 2516 N/M RSB TYPE

(42 X119, 8 HOLE , BOLT NO. 19, PLARE 150MM) 20
CROSS HOLDER 2518 N/M RSB TYPE

(42 X129, 8 HOLE BOLT NO. 19, PLATE 150MM) 20
CROSS HOLDER RSB LATEST

42X129 , 8 HOLE , BOLT NO. 15, PLATE 175MM) 20
CROSS HOLDER RSB 4018 EX. LONG (SERRATED)
(48X135,4 HOLE , BOLT NO. 19, PLATE 150MM ) 20
CROSS HOLDER RSB 4018 (SERRATED)

(48X135, 4 HOLE , BOLT NO. 19, PLATE 150MM 20
CROSS HOLDER RSB 4018 (SERRATED)

(48X135, 4 HOLE , BOLT NO. 24, PLATE 165MM 20
CROSS HOLDER TATA 2515 TC N/M TUSKER LONG
(CROSS 41.28X126, 4 HOLE , BOLT NO. 21) 20
CROSS HOLDER IVECO

(34.92 X126 , 6 HOLE , BOLT NO. 17, PLATE 120MM) 20
CROSS HOLDER AMW (SERRATED)

(CROSS 52X133, 4HOLE, PLATE-7", HT 125MM) 20
CROSS HOLDER AMW (SERRATED)

(CROSS 52X147, 4HOLE, PLATE-7", HT 125MM) 20
CROSS HOLDER AMW (SERRATED)

(CROSS 52X133, 4HOLE, PLATE-6", HT 120MM) 20
CROSS HOLDER RSB 620 SERIES (SERRATED)
(CROSS 57X152,4HOLE, PLATE-7", HT 125MM) 20

CROSS HOLDER AMW 2518/EICHER40.25
(49.20X154.80, PLATE- 87, BOLT No.19, 12 HOLES) 20
CROSS HOLDER 1210 N/M

(38 X101, 8 HOLE , BOLT NO. 17 PLATE 130MM) 10

10 1090.00

10 900.00

20 1690.00

3 432.00

3 424.00

690.00

560.00

570.00

570.00

2280.00

2280.00

2340.00

1400.00

2480.00

1800.00

1800.00

1900.00

2400.00

2300.00

2400.00

1250.00

1200.00

2700.00

2700.00

2600.00

2700.00

2900.00

900.00

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH



FULL SLEEVE YOKE SECTION

H-250 SLEEVE YOKE TATA 1210) 10 1310.00 EACH
(10 Spline, Cross 38 x 101mm, 8.25” Length)

H-251 SLEEVE YOKE TATA SE 10 1310.00 EACH
(10 Spline, Cross 38 x 101mm, Length 8.25”)

H-252 SLEEVE YOKE TATA 1312 (16 Spline) 15 2140.00 EACH
(16 Spline, Cross 46 x 120mm)

H-253 SLEEVE YOKE 1613 TURBO (24 Spline) 15 2170.00 EACH
(24 Spline, Cross 46 x 120mm)

H-253 SLEEVE YOKE 1613 TURBO N/M
(CROSS 34.92X126, 16 SPLINES)

H-254 SLEEVE YOKE 1312 EXTRA LONG (16 Spline) 15 2600.00 EACH
(16 Spline, Cross 46 x 120mm)

H-255 SLEEVE YOKE TATA 407 O/'M 5 800.00 EACH
(16 Spline, Cross 30 x 82mm)

H-256 SLEEVE YOKE TATA 407 TURBO EX /709 /909 5 1180.00 EACH
(16 Spline, Cross 30.17 x 106mm)

H-257 SLEEVE YOKE TATA 407 PIKUP 5 1340.00 EACH
(16 Spline, Cross 35 x 106mm)

H-258 SLEEVE YOKE 407 TURBO N/M (MSL Type) 5 930.00 EACH
(16 Spline, Cross 30.17 x 92mm)

H-259 SLEEVE YOKE 2516 (16 SPLINE) 15 2700.00 EACH
(16 Spline, Cross 41.28 x 126mm, Length 10”)

H-260 SLEEVE YOKE 2516 (30 SPLINE) 15 2700.00 EACH
(30 Spline, Cross 41.28 x 126mm, Length 10”)

H-261 SLEEVE YOKE LEYLAND 370 15 1500.00 EACH
(16 Spline, Cross 39.67 x 117mm)

H-262 SLEEVE YOKE LEYLAND TUSKER 15 1570.00 EACH
(16 Spline, Cross 34.92 x 126mm)

H-263 SLEEVE YOKE (21 Spline) ACE 5 780.00 EACH
(21 Spline, Cross 23.82 x 60mm)

H-264 SLEEVE YOKE MAGIC (22 SPLINE) 5 800.00 EACH
(22 Spline, Cross 22 x 55mm)

H-265 SLEEVE YOKE CANTER N/M 5 1180.00 EACH
(16 Spline, Cross 30.17 x 106mm)

H-266 SLEEVE YOKE TATA 1109 15 2060.00 EACH
(20 Spline, Cross 34.92 x 126mm)

H-267 SLEEVE YOKE MAXIMO 5 1100.00 EACH

H-268 SLEEVE YOKE TATA LEY. 1710 SERIES
(CROSS 34.92X126, 16 SPLINES , LENGTH 13.50”)

H-269 SLEEVE YOKE TATA LEY. 1710 SERIES
(CROSS 41.28X126, 16 SPLINES , LENGTH 13.50”)

H-270 SLEEVE YOKE TATA 3118 (4018 LONG)

CROSS 49.20X154.80, 16 SPLINES, LONG -13”)

REAR TEETH SECTION
H-300 REAR TEETH TATA 1210 10 1000.00 EACH
(10 Spline, Pipe Dia 2.5”)
H-301 REAR TEETH TATA SE 10 1020.00 EACH

(10 Spline, Pipe Dia 3”)



H-302

H-303

H-304

H-305

H-306

H-307

H-308

H-308 A

H-308 B

H-309

H-310

H-311

H-312

H-313

H-314

H-315

H-316

H-317

H-318

H-319

H-320

H-350

H-351

H-352

H-353

REAR TEETH TATA 1312/1612

(16 Spline, Pipe Dia 3.5”)

REAR TEETH TATA 1613 TURBO

(24 Spline, Pipe Dia 3.5”)

REAR TEETH 1312 EXTRA LONG

(16 Spline, Pipe Dia 2.5”)

REAR TEETH TATA 407 TURBO EX/709/909
(16 Spline, Pipe Dia 37)

REAR TEETH TATA 407 O/M

(16 Spline, Pipe Dia 2.5”)

REAR TEETH TATA 407 PIKUP

(16 Spline, Pipe Dia 3.5”)

REAR TEETH TATA 407 TURBO N/M (MSL Type)
(16 Spline, Pipe Dia 2.5”)

REAR TEETH 407 N/M(TATA CONVERTED)
(10 SPLINES , PIPE DIA 2.57)

REAR TEETH 407 TURBO N/.M

(16 Splines , PIPE DIA 2.5”, Length -9” Bearing 6207)
REAR TEETH LEYLAND 2516

(16 Spline, Pipe Dia 4”)

REAR TEETH LEYLAND 2516

(30 Spline, Pipe Dia 4”)

REAR TEETH TATA 2516

(16 Spline, Pipe Dia 3.5”)

REAR TEETH TATA 2516

(30 Spline, Pipe Dia 3.5”)

REAR TEETH LEYLAND 370 (3”)

(16 Spline, Pipe Dia 37)

REAR TEETH LEYLAND BUS (3.5”)
(16 Spline, Pipe Dia 3.5”)

REAR TEETH TUSKER (3”)

(16 Spline, Pipe Dia 37)

REAR TEETH TUSKER (3.5”)

(16 Spline, Pipe Dia 3.5”)

REAR TEETH CANTER N/M

(16 Spline, Pipe Dia 37)

REAR TEETH TATA 1109

(26 Spline, Pipe Dia 3.5”)

REAR TEETH 1613 TURBO

(16 SPLINES , PIPE DIA 3.57)

REAR TEETH TATA/LEY. 1710 SERIES
(16 SPLINE , PIPE DIA -4” LENGTH 12”)

HALF YOKE SECTION

HALF YOKE 1210 (2.5”-DIA)

(Cross 38 x 101mm, Pipe Dia 2.5”)

HALF YOKE SE SE (3”-DIA)

(Cross 38 x 101mm, Pipe Dia 3”)

HALF YOKE END 1312 (90mm Pipe)
(Cross 46 x 120mm, Pipe Dia 3.5”)

HALF YOKE LEYLAND 2214 ( FORGED)
(Cross 41.28 mm x126 mm , Pipe - 4”)

15

15

15

15

15

15

15

10

10

10

10

10

1700.00

1720.00

1960.00

950.00

620.00

910.00

930.00

1850.00

1850.00

1850.00

1850.00

1020.00

1080.00

1020.00

1080.00

850.00

1490.00

740.00

770.00

1240.00

1600.00

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH



H-354

H-355

H-357

H-358

H-359

H-360

H-360 A

H-361

H-362

H-363

H-364

H-365

H-366

H-367

H-368

H-369

H-370
H-371

H-372
H-373

H-400

H-401

H-402

H-403

H-404

H-405

HALF YOKE 2515 RSB SMALL (FORGED) 5

(Cross 42 x 119mm , Pipe -3.5”)

HALF YOKE 2515 RSB BIG 5

(Cross 42X129 mm ,Pipe 4”)

HALF YOKE 407 O/M (CROSS 407) 5

(Cross 30 x 82mm, Pipe -2”)

HALF YOKE 407 N/M (TATA CONVERTED) 5

(Cross 38 x 10Imm, PIPE-2”)

HALF YOKE 407 TURBO EX/ 709 /909 5

(Cross 30.17X106 mm, PIPE 3”)

HALF YOKE 407 PIKUP 5

(Cross 35 x 106mm, Pipe- 2”)

HALF YOKE 407 TURBO N/M MSL TYPE 5

(CROSS 30.17 X92mm, PIPE -37)

HALF YOKE 4018/31.18 10

(Pipe 47, Cross 49.20mm)

HALF YOKE RSB 4018 10

(Pipe- 47, Cross 48 X 135mm)

HALF YOKE END LEYLAND (3”) 10

(Cross 39.67 X 117mm, Pipe Dia 3”)

HALF YOKE END LEYLAND (3.5”) 10

(Cross 39.67 X 117mm, Pipe Dia 3.57)

HALF YOKE LEYLAND TUSKER (3”) 10

(Cross 34.91 X 126mm, Pipe Dia 3”)

HALF YOKE LEYLAND TUSKER (3.5”) 10

(Cross 39.92 X 126mm, Pipe Dia 3.57)

HALF YOKE END TCAC LEYLAND 2516 10

(Cross 41.28 X 126mm, Pipe Dia 4”)

HALF YOKE END TATA ACE 3

(Cross 23.82 X 60mm, Pipe Dia 1.75)

HALF YOKE END MAGIC 3

(Cross 22 X 55mm, Pipe Dia 1.75”)

HALF YOKE END CANTER N/M 3

HALF YOKE JEEP / COMMANDER /MAXIMO 5

HALF YOKE MAXX PIKUP BOLERO PIKUP 5

HALF YOKE TATA 1109

(CROSS 34.92 X126, PIPE 3.57) 5
FRONT TEETH SECTION

FRONT TEETH TATA 1210 (WITH NUT) 10

(14 Spline, Pipe Dia 2.5”)

FRONT TEETH TATA1210 — SE (WITH NUT) 10

(14 Spline, Pipe Dia 37)

FRONT TEETH 1312 N/M 2416 10

(26 Spline, Pipe Dia 3.5”)

FRONT TEETH 407 (WITH NUT) 5

(16 Spline, Pipe Dia 27)

FRONT TEETH 4018/31.18 10

(26 Spline, 4-Dia)

FRONT TEETH LEY. TUSKER 3” 10

(10 Spline, Pipe Dia 37)

1650.00

1670.00

610.00

790.00

850.00

880.00

790.00

2260.00

2260.00

1200.00

1270.00

990.00

1090.00

1320.00

430.00

440.00

720.00
560.00

720.00

1220.00

990.00

1030.00

1550.00

770.00

1550.00

1080.00

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH
EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH



H-406

H-407

H-500
H-501
H-502
H-503
H-504
H-505
H-506
H-507
H-508
H-509
H-510
H-511
H-512
H-513
H-514
H-515
H-516
H-517
H-518
H-519
H-520
H-521

H-522
H-523

FRONT TEETH LEY. TUKER 3.5”
(10 Spline, Pipe Dia 3.5”)

FRONT TEETH LEYLAND 2516 N/M
(34 Spline, Pipe Dia 4”)

10

10

YOKE & TEETH SET SECTION

YOKE & TEETH SET TATA 1210

(Cross 38 X 101mm, 10 Splines, PIPE 2.5”)

YOKE & TEETH SET TATA 1210 SE

(Cross 38 X 101mm, 10 Spline , PIPE 3”)

YOKE & TEETH TATA 1312

(Cross 46 X 1210mm, 16 Spline, PIPE 3.5”)

YOKE & TEETH TATA 1312 EXTRA LONG

(Cross 46 X 120mm, 16 Splines, PIPE 3.5”)

YOKE & TEETH TATA 2516

(30 Spline, Pipe 3.5”, Cross 41.28 X 126mm, Length 10”)
YOKE & TEETH TATA 2516

(16 Spline, Pipe 3.5”, Cross 41.28 X 126mm, Length 10”)
YOKE & TEETH SET LEY. 2516 /3516/2214

(30 Spline, Pipe 4”, Cross 41.28 X 126mm, Length 10)
YOKE & TEETH SET LEY. 2516 EX / 2214

(16 Spline, pipe 4”7, Cross 41.28 X 126mm, Length 10”)
FORK YOKE WITH BOTTLE SET RSB SHAFT 2515
(20 Spline , Pipe 3.5, Yoke Length 13” Cross 42X119mm)
FORK YOKE WITH BOTTLE RSB SHAFT 2518 EX
(20 Spline, Pipe 4”, Yoke Length 137, Cross 42X129mm)
LONG FORK YOKE WITH BOTTLE SET 2516 RSB
(Cross 42 X 129 mm, 20 spline, Yoke Length 15”)
YOKE & TEETH SET TATA 407

(Cross 30 X 82 mm, 16 spline, pipe 2.5”)

YOKE & TEETH SET 407 TURBO EX/709/909
(Cross 30 X 106 mm, 16 Teeth, Pipe 3”, Length 8.57)
YOKE & TEETH SET 407 PIKUP

(Cross 35 X 106 mm, 16 Teeth, Length 77, Pipe 3.57)
YOKE & TEETH SET 407 TURBO N/M (MSL Type)
(Cross 30.17 x 92mm, 16 spline, Pipe 2.57)

YOKE & TEETH SET TATA 4018

(16 Spline, Pipe —4”, 10.5” long, cross 49.20mm)

LONG FORK WITH BOTTLE ASSY. RSB 4018

(30 Spline, Pipe 4”, Cross 48X135mm, 13” Length)
LONG FORK WITH BOTTLE TATA 4018 RSB

(30 Spline, Pipe 4”, Cross 48X135mm, Length 157)
YOKE & TEETH SET DIESEL JEEP — 77

YOKE & TEETH SET COMMANDER - 6”

YOKE & TEETH SET MAX-PIKUP

YOKE & TEETH SET BOLERA

YOKE & TEETH SET SCORPIO

YOKE& TEETH SET CANTER N/M/407 Turbo Rear

CENTRE /GEAR /PINION COUPLING FLANGE

20

20

30

30

30

30

30

30

30

30

30

5

10

10

10

40

40

40

5
5
10
10
10
5

1150.00

1420.00

2310.00

2330.00

3840.00

4560.00

4550.00

4550.00

4550.00

4550.00

5050.00

5350.00

7000.00

1420.00

2130.00

2250.00

1860.00

7500.00

8450.00

9500.00

1300.00
1290.00
1520.00
1900.00
1900.00
2010.00

EACH

EACH

SET

SET

SET

SET

SET

SET

SET

SET

SET

SET

SET

SET

SET

SET

SET

SET

SET

SET

SET
SET
SET
SET
SET
SET



H-550

H-551

H-552

H-553

H-554

H-555

H-556

H-557

H-558

H-559

H-560

H-561

H-562

H-563

H-564

H-565

H-566

H-567

H-568

H-569

H-570

H-571

H-572

H-573

H-574

H-575

H-576

CENTRE COUPLING FLANGE 1210/ SE

(14 Spline, Plate Dia 120mm, Bolt no. 17)
PINION COUPLING FLANGE 1210/ SE

(26 Spline, Plate Dia 120mm, Bolt no. 17)

GEAR COUPLING FLANGE GB-40

(16 Spline, Plate Dia 120mm, Bolt no. 17)

GEAR COUPLING FLANGE TATA-1210(GB-30)
(14 Spline, Plate Dia 120mm, Bolt no. 17)
CENTRE COUPLING FLANGE 1312

(14 Spline, 8 Hole, Plate Dia 130mm, Bolt no. 17)
PINION COUPLING FLANGE 1312

(26 Spline, 8 Hole, Plate Dia 130mm, Bolt no. 17)
GEAR BOX COUPLING 1312

(16 Spline, 8 Hole, Plate Dia 130mm, Bolt no. 17)
CENTRE COUPLING 2416 N/M LONG HEIGHT
(26 Spline, 8 Hole, Plate Dia 130mm, Bolt no. 17)
CENTRE COUPLING 1516

(26 Spline, 8 Hole)

CENTRE COUPLING 1613 TURBO

(10 Spline, 4 Hole, Plate Dia 150mm, Bolt no. 21)
GEAR COUPLING GB-60

( 18 Teeth , 8 Hole, Plate 1312, Bolt no. 17)
CENTRE COUPLING FLANGE 407 O/M

(6 Hole, 16 Spline, Plate Dia 100mm)

CENTRE COUPLING FLANGE 407 N/M

(6 Hole, 16 Spline, Plate Dia 120mm)

PINION COUPLING FLANGE 407 O/M

(6 Hole, 16 Spline, Plate Dia 100mm)

PINION COUPLING FLANGE 407 N/M

(6 Hole , 16 Spline, Plate Dia 120mm)

GEAR COUPLING FLANGE 407 O/M

(6 Hole, 16 Spline, Plate Dia 100mm)

GEAR COUPLING FLANGE 407 N/M

(6 Hole, 16 Spline, Plate Dia 120mm)

CENTRE COUPLING(THRU SHAFT) TATA 2515 EX
(34 Spline, 8 Hole ,PLATE 130mm, Bolt No. 17)
CENTRE COUPLING FLANGE TATA 2518
(26 Spl., 8 Hole PLATE 150mm)

CENTRE COUPLING LEYLAND 2516

(34 Spline, 8 Hole, Plate 176 mm)

PINION COUPLING LEYLAND 2516 N/M
(39 Spline, 8 Hole, 176mm)

PINION COUPLING LEYLAND 2516 N/M
(41 Spline, 8 Hole, 176mm)

GEAR COUPLING LEYLAND 2516 N/M

(28 Spline 8 Hole, 176mm)

THRU SHAFT COUPLING FLANGE TATA 2518
(34 Spline, 8 Hole, Plate1 50mm)

PINION COUPLING 2518

(26 Spline, 8 Hole, Plate 150mm

PINION COUPLING FLANGE LEYLAND
(10 Spline, 4Hole)

CENTRE COUPLING FLANGE LEYLAND

()}

W

W

W

W

560.00

620.00

620.00

566.00

700.00

720.00

730.00

1010.00

1000.00

1160.00

1266.00

460.00

540.00

460.00

540.00

460.00

540.00

1260.00

1600.00

1580.00

1800.00

1820.00

1560.00

1650.00

1600.00

1250.00

980.00

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH



H-577
H-578

H-579
H-580
H-581
H-582
H-583
H-584
H-585
H-586
H-587
H-588
H-589
H-590
H-591
H-592
H-593
H-594
H-595

H-596

H-597

H-650

H-651

H-652

H-653

H-654

(10 Spline,4 Hole)
GEAR COUPLING FLANGE LEY. (SQUARE TYPE)
GEAR COUPLING FLANGE LEY. (ROUND TYPE)

PINION COUPLING FLANGE TATA 2516/3516
(41 Teeth, 8 Hole, Plate 1312)

PINION COUPLING FLANGE TATA 3516/2516
(39 Teeth, 8 Hole, Plate1312)

PINION COUPLING FLANGE TATA 2516

(41 Teeth, Square Type, 4 Hole)

GEAR COUPLING FLANGE 2515 RSB (Serrated)
(18 Spline 4 Hole, 6” Dia)

THRU SHAFT FLANGE 2515 RSB (Serrated)

(26 Spline , 4 Hole , 6” Dia , 63mm Height)

5
5

5

CENTRE COUPLING FLANGE TATA 31.18 (Serrated)

(16 Spline , 4 hole, Dia — 6)

PINION COUPLING FLANGE 2515 RSB (Serrated)
(39 Spline , 4 Hole , Dia-6")

PINION COUPLING TATA ACE
PINION COUPLING TATA MAGIC
PINION COUPLING MAXIMO
GEAR BOX COUPLING 4018

(18 Spline , 8 Hole , Plate 165mm)
PINION COUPLING 4018

(41 Spline, 8Hole , Plate 165mm)
PINION COUPLING 4018

(39 Spline , 8 Hole, Plate 165mm)
CENTRE COUPLING 4018

(26 Spline , 8 Hole , Plate 165mm)

GEAR BOX COUPLING JEEP (ROUND)
PINION COUPLING JEEP (SQUARE)
PINION COUPLING JEEP (ROUND)

GEAR COUPLING FLANGE 2518

(18 Spline,8 Hole,Plate 150mm,Bolt No 19)

GEAR COUPLING GB-75

(26 Spline,4 Hole,Serrated Plate 150mm,Bolt No. 19)

FULL SLEEVE YOKE ASSEMBLY'S SECTION

10

1

wn D D O

10

10

10

10

(O8]

1090.00
1260.00
1270.00
1270.00
1270.00
1940.00
1960.00
2360.00
2550.00
670.00
680.00
720.00
3400.00
2200.00
2150.00
2150.00
540.00
650.00
660.00

1400.00

2250.00

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH

EACH

ASSEMBLY CONSIST OF (YOKE + U.J. CROSS + CROSS HOLDER)

SLEEVE YOKE ASSEMBLY TATA 1210

SLEEVE YOKE ASSEMBLY TATA 1312

SLEEVE YOKE ASSEMBLY TATA 407

SLEEVE YOKE ASSEMBLY LEYLAND 370

SLEEVE YOKE ASSEMBLY LEYLAND TUSKER

20

25

20

25

20

2700.00

4470.00

1930.00

3450.00

3320.00

SET

SET

SET

SET

SET



H-670
H-671
H-672
H-673
H-674
H-675
H-676
H-677
H-678

H-700
H-701
H-702
H-703
H-704
H-705
H-706
H-707

H-710
H-711
H-712
H-713
H-714
H-715
H-716

H-800
H-801
H-802
H-803
H-804

H-805

H-806

HALF YOKE ASSEMBLY'S SECTION

HALF ASSEMBLY CONSIST OF (HALF YOKE +U.J. CROSS + CROSS HOLDER)

HALF YOKE ASSEMBLY TATA 1210

15

HALF YOKE ASSEMBLY TATA SE 15
HALF YOKE ASSEMBLY TATA 1312 20
HALF YOKE ASSEMBLY TATA 407 10
HALF YOKE ASSEMBLY TATA 407 N/M 10
HALF YOKE ASSEMBLY LEY. TUSKER (3”) 20
HALF YOKE ASSEMBLY LEY. TUSKER (3.5”) 20
HALF YOKE ASSEMBLY LEYLAND 370 (3”) 20
HALF YOKE ASSEMBLY LEYLAND 370 (3.5”) 20
CLUTCH FORK SECTION
CLUTCH FORK GB-40 /TC (14” Length) 5
CLUTCH FORK GB-40 SHORT (13” Length) 5
CLUTCH FORK 1312 O/M (Length 117) 5
CLUTCH FORK 1613 TURBO LONG 5
CLUTCH FORK 1613 TURBO SMALL 5
CLUTCH FORK 1510, 1612 N/M (Length -12.5”) 5
CLUTCH FORK 407 (Length-117) 5
CLUTCH FORK LEYLAND 5

2130.00
2180.00
3540.00
1720.00
1940.00
2730.00
2830.00
3120.00
3200.00

640.00
620.00
640.00
730.00
730.00
680.00
630.00
1150.00

HOUSING BLOCK ASSYEMBLY (JHAMELA)

HOUSING BLOCK ASSY. 1512 /1613 T.C/1612
HOUSING BLOCK ASSY. 2515 TC/LEY. 49.21
HOUSING BLOCK ASSY. 2516 TC

HOUSING BLOCK ASSY. 1312 TC

HOUSING BLOCK ASSY. 1313 TC

HOUSING BLOCK ASSY. TATA 4018
HOUSING BLOCK ASSY. 1616 TC

10
10
10
10
10
10
10

1460.00
1480.00
1480.00
1460.00
1460.00
1325.00
1460.00

SET
SET
SET
SET
SET
SET
SET
SET
SET

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH

STEERING AND SUSPENSION PARTS SECTION

TATA 1210, 1312, 2416, 1510

TIE ROD REPAIR KIT 1210(1510, 1312, 2416, 1510)
DRAG LINK REPAIR KIT 1210 (1510, 1516, 1612)
DRAG LINK REPAIR KIT 1312

TIE ROD END 1210 (1510, 1516, 1612, 2213)

GEAR LEVER END TATA1510 SMALL

(1612, 2213, 2416, TURBO, L/L 2516)

GEAR LEVER END LOWER TATA 1510 BIG
(2416, TURBO, L/L 1612, 2516)

DRAG LINK END TATA 1616, 2416

THREAD SIZE (28X1.5mm)

5 426.00
5 460.00
5 500.00
10 1070.00
2.5 260.00
2.5 260.00
5 770.00

KIT
KIT
KIT
SET
EACH
EACH

EACH



H-807

H-810
H-811
H-812
H-813

H-820
H-821
H-822

H-825
H-826
H-827
H-828

H-829

H-830
H-831
H-832

H-835
H-836
H-837

H-840
H-841

H-900
H-901
H-902
H-903
H-904
H-905
H-906
H-907

DRAG LINK END TATA 1616, 2416

THREAD SIZE (30X1.5mm) 5
TATA 407
TIE ROD END 407 (set of 2) SEALED TYPE 5
TIE ROD END 407 (set of 2) PLUG TYPE 5
TIE ROD END 407 TURBO (set of 2) 5
TIE ROD REPAIR KIT 407 5
TATA 608
TIE ROD END 608 (set of 2) SEALED TYPE 5
TIE ROD END 608 (set of 2) PLUG TYPE 5
TIE ROD REPAIR KIT 608 5
TATA 609/709

TIE ROD END 609/709 (SEALED TYPE) 5
TIE ROD END 609/709 (PLUG TYPE) 5
TIE ROD REPAIR KIT TATA 709 5
GEAR SHIFTER END RIGHT 609/709 LP
(1510,1612,2213,2416) 5
GEAR SHIFTER END LEFT INNER THREAD 609

(709 LP, 1510, 2213, 2416 EX) 5
DRAG LINK REPAIR KIT TATA 709 5
DRAG LINK END (RIGHT) + REPAIR KIT 709 5
DRAG LINK END RIGHT (PLUG TYPE)+REPAIR KIT 709 5

LEYLAND
TIE ROD REPAIR KIT LEYLAND /BEDFORD 5
TIE ROD END LEY. 2516, 3516 N/M 5
TIE ROD REPAIR KIT LEYLAND 2516, 3516 N/M 5
TATA ACE ., MAGIC

TIE ROD END TATA ACE 5
TIE ROD END TATA MAGIC 5

STEERING CROSS ASSEMBLYS

STRG. CROSS ASSY. 407, 608

STRG. CROSS ASSY. TATA 1210

STRG. CROSS ASSY. TATA 1109

STRG. CROSS ASSY. TATA 1312
STRG.CROSS ASSY. TATA 1613 T.C

STRG. CROSS ASSY. TATA 2515/2516 RANE
STRG. CROSS ASSY. TATA 2213 ZF

STRG. CROSS ASSY. 709 LPT

DN D L D D D D

770.00

680.00
850.00
790.00
344.00

710.00
870.00
350.00

710.00
870.00
350.00

200.00

200.00
410.00
630.00
700.00

900.00
1610.00
614.00

420.00
430.00

636.00
1310.00
656.00
900.00
900.00
900.00
900.00
830.00

EACH

SET
SET
SET
KIT

SET
SET
KIT

SET
SET
KIT

EACH

EACH
EACH
SET
SET

KIT
PAIR
KIT

SET
SET

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH



H-908 STRG. CROSS ASSY. TATA ACE 5 550.00 EACH
H-909 STRG. CROSS ASSY. TATA ACE (WITH ROD) 5 1230.00 EACH
H-910 STRG. CROSS ASSY. LEYLAND THICK 5 1030.00 EACH
H-911 STRG. CROSS ASSY. LEYLAND THIN 5 1030.00 EACH
H-912 STRG. CROSS ASSY. LEYLAND 3516 LONG 5 1070.00 EACH
H-913 STRG. CROSS ASSY. LEYLAND RANE 5 900.00 EACH
H-914 STRG. CROSS ASSY. LEYLAND ZF 5 900.00 EACH
H-915 STRG. CROSS ASSY. LEYLAND POWER STEERING 5 830.00 EACH
H-916 STRG. CROSS ASSY. MATADOR MAX 5 630.00 EACH
H-917 STRG. CROSS ASSY. TRAX. 5 630.00 EACH
H-918 STRG. CROSS ASSY. MARSHAL BIG 5 630.00 EACH
H-919 STRG. CROSS ASSY. COMMANDER SMALL 5 630.00 EACH
H-920 STRG. CROSS ASSY. BOLERO UPPER 5 830.00 EACH
H-921 STRG. CROSS ASSY. BOLERO LOWER 5 630.00 EACH
H-922 STRG. CROSS ASSY. SCORPIO 5 730.00 EACH
H-923 STRG. CROSS ASSY. GYPSY 5 630.00 EACH
STEERING WORM
H-950 STRG. WORM - TATA SE 10 1760.00 EACH
H-951 STRG. WORM - TATA 407 O/'M 10 1760.00 EACH
H-952 STRG. WORM - TATA 407 N/M 10 1760.00 EACH
H-953 STRG. WORM - TATA 608 10 1760.00 EACH
H-954 STRG. WORM - TATA 609/709 10 1760.00 EACH
H-955 STRG. WORM - TATA 1613 T.C (RANE MANUAL) 10 3200.00 EACH
H-956 STRG. WORM - TATA 1109 10 2950.00 EACH
H-957 STRG. WORM - TATA 2516 ZF(BIG SIZE) 10 3200.00 EACH
H-958 STRG. WORM - TATA ACE 10 1440.00 EACH
H-959 STRG. WORM - TATA MAGIC 10 1440.00 EACH
STEERING SECTOR SHAFT
H-970 STRG. SECTOR SHAFT - TATA 1210 - SE 10 1370.00 EACH
H-971 STRG. SECTOR SHAFT - TATA-1613 T.C 10 3250.00 EACH
H-972 STRG. SECTOR SHAFT TATA - 1109 10 2870.00 EACH
UNIVERSAL JOINT CROSS SECTION
(NOTE- FOR CROSS TIN PACKING RS 20 PER PIECE WILL BE CHARGED EXTRA)
H-1000 TATA 1210, 608, 407 N/M (38.05mmX101mm) 5 650.00 EACH
H-1001 TATA 1210 GREASELESS (38.05mmX101mm) 5 690.00 EACH
H-1002 TATA 1312, 1612, 2213, 2416, Turbo (46 X 120mm) 10 1030.00 EACH
H-1003 TATA 1312 GREASELESS (46 X 120mm) 10 1090.00 EACH
H-1004 TATA 407,206, SUMO ESTATE, SIERRA (30 X 82mm) 3 446.00 EACH
H-1005 L/L 370 BEDFORD J-4 (39.72 X 117mm) 5 776.00 EACH
H-1006 L/L TUSKER / TATA 1109 EX (34.94 X 126mm) 5 776.00 EACH
H-1007 AMBASSADOR (23.85X61.20mm) 3 374.00 EACH
H-1008 L/L TAURAS 3516 N/'M (47.64 X 135mm) 10  1410.00 EACH
H-1009 LEYLAND VIKING (38 X 105.80mm) 5 776.00 EACH
H-1010 TATA 2515 EX TC, 2516 Spicer Type (41.28 X 126mm) 10 1110.00 EACH
H-1011 JEEP DIESEL, Marshal. Utility, Commander (27 X 81.75mm) 3 394.00 EACH
H-1012 MATADOR N/M, TEMPO TRAX N/M (30 x81.75mm) 3 450.00 EACH
H-1013 STEERING CROSS TATA 1312 (19 X 47mm) 3 316.00 EACH



H-1014
H-1015
H-1016
H-1017
H-1018
H-1019
H-1020
H-1021
H-1022
H-1023
H-1024
H-1025
H-1026
H-1027
H-1028
H-1029

H-1050
H-1051
H-1052
H-1053
H-1054
H-1055
H-1056
H-1057
H-1058

STEERING CROSS TATA 407,608
TATA 2518 EX’HYWA

CANTER N/M / 407 TURBO

1613 T.C (R.S.B) TYPE (Single Roller)
1613 T.C (R.S.B) TYPE (Double Roller)
TATA 407 TURBO N/M/410/412
TATA 407 PIKUP, JCB - 3 DX, BS-111
TATA 4018 PATTI TYPE — WITH BOLT
4018 LOCK TYPE (RSB SHAFT)
TATA ACE

TATA MAGIC

AMW, MAN

AMW, VOLVO FM7

TATA 4923, AMW, VOLVO

TATA HYWA, AMW, MAN

(18 X 42mm) 3
(42mmX119mm) 10
(30.18 X106.30mm) 5

(42 X129mm) 10

(42X129mm) 10
(30.18 X 92mm) 3

(35mmX106mm) 5

(49.20 X154.80mm) 15

(48 X135mm) 10
(23.82 X 60mm) 3
(22 X 55mm) 3
(57 X 144mm) 15

(52.04 X 133mm) 15
(52.02 X 152.60mm) 15
(52.02 X 144.50mm) 15

TATA HYWA N/M LATEST (42 X 133mm) 10
CLUTCH LEVER KITS
C.L. KIT Bush Type TATA GB-40 5
C.L. KIT Roller Type TATA GB-40 5
C.L.KIT LEYLAND 5
C.L.KIT BUSH TYPE TATA 1613T.C 5
C.L.KIT BEARING TYPE TATA 1613T.C 5
C.L.KIT BUSH TYPE TATA GB-50/ 60 5
C.L.KIT BEARING TYPE TATA GB-50/ 60 5
C.L.KIT BUSH TYPE TATA 2515 EX 5
C.L.KIT BEARING TYPE TATA 2515 EX 5

306.00
1150.00
630.00
1340.00
1420.00
620.00
700.00
2250.00
2000.00
370.00
370.00
2580.00
2500.00
2600.00
2600.00
1240.00

670.00
710.00
730.00
900.00
1100.00
700.00
720.00
900.00
1130.00

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

KIT
KIT
KIT
KIT
KIT
KIT
KIT
KIT
KIT



